Here are a few sample questions from each section of the test.

Brave New World Unit Test

Complete each section of the test as directed.
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* Required
1. Email*
2. Your Name: Last, First * 5 points
Choose the correct answer.
|dentify
3. 's Process makes multiple 'twin' embryos. * 1 point

Mark only one oval.

@ A. Helmholtz

( ) B. Bokanovsky

) C. Marx
( ) D. Watson
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4.

5.

6.

Beta who was lost during a visit to the Savage Reservation *

Mark only one oval.

A. Linda
B. John
C. Helmholtz

D. Lenina

He taught John how to work clay & make a bow. *

Mark only one oval.

A. Bernard
B. Helmholtz
C. Pope

D. Mitsima

Linda's son *

Mark only one oval.

A. Bernard
B. Henry
C. John

D. Helmholtz
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16. This person brought John The Complete Works of William Shakespeare. * 1 point

Mark only one oval.

A. Pope
B. Helmholtz
C. Lenina

D. Bernard

17. ___ Plus; highest caste * 1 point

Mark only one oval.

A. Gamma
B. Beta

C. Delta

D. Alpha

Choose the best option to answer each question.

Multiple Choice

18. What is Bokanovsky's Process? * 1 point

Mark only one oval.
A. It is a process by which one human embryo will divide into from eight to ninety-six
buds to form multiple "twin embryos."

B. It is a kind of cryogenics whereby a person with a terminal disease can be frozen.
When an antidote is found for the disease, it can be administered and then the patient can
be rejuvenated, fully cured.

C. Itis a sterilization process that requires no surgery and is non-reversible.

D. It is a type of hypnosis that makes everyone think alike.
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19. Acertain treatment is performed to "make people like their unescapable 1 point
social identity. "What is it called? *

Mark only one oval.

A. It is called conditioning.
B. It is called immunotherapy.
C. It is called reevaluation therapy.

D. It is called ectogenesis.

20. Why are the Delta babies being conditioned to hate books and flowers? * 1 point

Mark only one oval.

A. The Deltas do not need books to perform their social function; they might attempt
to think for themselves if allowed to see unfamiliar ideas. The conditioning against nature
is for economic reasons. Enjoying nature is free and doesn't keep any factories busy.

B. It is for economic and environmental reasons. There are not enough trees to use
for paper, so additional books cannot be printed. Also, all of the land is needed for growing
crops and building houses, so there is no room for flowers. People still try to read and
grow flowers, so the government has begun a program to make them both unpopular.

C. It is for their health to reduce allergies. The human race has become extremely
susceptible to dust, mold, and pollen allergies.

D. It is for religious reasons. Reading and enjoying nature are thought of as sinful
because they bring too much pleasure.

21. Bernard Marx is different from his associates in many ways. Which of these 1 point
sentences does NOT describe him? *

Mark only one oval.

A. He is smaller than most of the others.
B. He is an Alpha plus, a member of the highest caste.
C. He dislikes the practices of society.

D. He has one steady girlfriend.
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37. John wants to show his grief for his mother and his anger at society. He also 1 point
wants to get rid of his desire for Lenina. What does he do? *

Mark only one oval.
A. He screams and cries for a few hours, then falls into a trance-like sleep for a
week.
B. He goes back to the reservation to fast and pray.

C. He tortures himself.

D. He writes about his feelings, makes copies of his writing, and distributes them to
everyone he sees.

. Choose the options that complete the quotes correctly.
Quotations

38. “Butldont want .Iwant God, | want poetry, | want real danger, | want 1 point
freedom, | want goodness. | want sin.” *

Mark only one oval.

A. comfort
B. love
C. material things

D. love

39. “One believes things because S 1 point

Mark only one oval.

A. onecan
B. everyone believes them
C. they are true

D. one has been conditioned to believe them

© 2021 Teacher's Pet Publications All Rights Reserved



46. “Endingis better than S 1 point

Mark only one oval.

A. continuing
B. mending
C. beginning
D. pending

47. “Those who meant well behaved S 1 point

Mark only one oval.

A. in the same way as those who meant badly
B. poorly
C. better than everyone else

D. in accordance with their place in society

Answer each question completely, in paragraph form.
Extended Answer

48 Compare and contrast Linda and Lenina. * 5 points
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49  Discuss the implications of the name "savage" and the appropriateness of 5 points
the connotations. *

50. Explain how the title, Brave New World, is appropriate. * 5 points

51. Who was responsible for John's death? Explain your choice. * 5 points
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61 . Cliff * 1 point
Mark only one oval.

A. Reparation
B. Precipice
C. Ordure

D. Carapace

62. Undermining; damaging to the authorities * 1 point

Mark only one oval.

A. Subversive
B. Axiomatic
C. Flaccid

D. Patronizing

63. Having never happened before * 1 point

Mark only one oval.

A. Unabashed
B. Optimum
C. Inconceivable

D. Unprecedented
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64. Disgrace* 1 point
Mark only one oval.

A. Moribund
B. Asset
C. Ignominy

D. Compunction

65. Arousing a strong dislike or disgust * 1 point

Mark only one oval.

A. Odious
B. Chronic
C. Inexorable

D. Lecherous

66. Undecided * 1 point

Mark only one oval.

A. Indulgent
B. Benevolent
C. Optimum

D. Irresolute
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